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PART - A (General Intelligence & Reasoning)

QNo: 1 A product priced at INR 500 gets a 20% discount then a 5% tax on the discounted price. What is the final price?

£500 Rl hITd 9Tl Uek ITE R 20% <1 P et & 3 fihr e ardt hiid WR 5% e ordl g1 ifam fhima s g2
INR 430

430 308
INR 435

435308
INR 425

425308
INR 420

420 308

Q.No: 2 | A girl starts fram her school gate and walks 10 m East, then 4 m South, then 8 m West. She then walks 2 m North, turns right and
walks & m. After that, she turns left and walks 2 m, and finally turns left again and walks & m. Where is she from the school gate?

Ueh Sch! AU Whet o 11T A =eiT U7 el ¢ 3R 10 #Hiex gd, fthe 4 diex afgion, iR 8 ez ufgy &1 sik 9ord! 81 fthe g 2 Hier 3w &l
SR FeTell g, a4 Hadl ¢ 3R 6 Hicx Ieid! 81 I8k 15, 98 =914 H3d! ¢ 3R 2 Hie Ferdl g, o ofd | [ & 91¢ 73l 8 3R 6 Hiex Fardt
21 98 Tl o 1 F Fel 67

2 m West

2 iR ufeH

4 m North

4 e I
4 m South

4 e gfau

QNo:3  If+=--=% %= [=+1hen,
whatis8+(3-2)*4 /17

o
8+(3-2)*4/17mE?

‘ mmm
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Q.No: 4 Carefully read the following statements and conclusions. Consider the statements to be absolutely true, even if they contradict
common facts. Based solely on the statements, determine which conclusion(s) logically follow.
Statements:

All flowers are plants.

Mo plant is a stone.

Some stones are heavy.

Conclusions:

(1) Mo flower is a stone.

(2) some plants are not heawy.

(3) some flowers are heavy.

(4) some heavy things are not plants.

FAe=feiEd syFT o Frespal ot eamyde g | Al ol guia: 9 A, Wl 81 d 90 9l o1 TS &ed 81| chdel Yl & YR 0,
FufRa 3 ik 14 a1/8 Fowd difdha 0 @ aFERu #3d g1
Y

aoft et el &

wig oft dhem e 8 21

e U R g1

e

(1) 12 +ft T TR 78 81

(2) oo ot W 72 &

(3) o o ¥R

(4) F© 9 TgY U e

only (1) follows

&had (1) SFERU HaT &

only (1), (2), and (4) follow

&ad (1), (2), 3R (4) FTaRUT ed &
AlL(1), (2), (3), and (4) follow

Tt (1), (2), (3), 3 (4) rFo0T A &

Q.No: 5 | In each of the following question, a pair of words (letter sequences) is given on the left-hand side of the double colan (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding word from the options.

BED: EGE:: LEG:?

fF=fofea vds o 8, <e &ier (1) & 918 ofiX 2=l o1 Ush g7 (1aR o) fean man &, it Ues TS aufrem o &1 SieRr &eat gl
Ugdl | F deh ! UgdE Fifeiy 3R fdeheul § d Tl T7Td =g A7 63 & ol 34t adh &t diaR =g R an Hifeg)
BED: EGE:: LEG:?

MJF

MJF
NIG

NIG

QHJ
QH.

Q.No: 6 A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order at the right
end.

Based on the pattern, answer the guestions that follow the given input.
Input: 100 Orbit 35 Dream 44 67 Space Apple
Question: What will be the arrangement in Step 11?7
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Uk 2eg-3iR-GHT saa ey Aai Ui =0T § Yok [T faw 1 ute &ed gy f6U 77 g99e &1 ey oed! 81 39 Fom § ads v
H FUiATe & SR a4 DI <2 i GGH 1S 3R 3R TS FU 8 994 931 Y41 ! 999 a2 AR o o1 A §1 g8 ulshar a4
e W ¥8dT & OfF o foh 9t e 18 3fiY auigTen e & 3R it Owend g1 3R JEsigl 9 § saaredd F g1 e |

29 O o oNYR R, féy Y 2Ye & d1e 1 arel Wl & I S1feg)

Fqe: 100 it 35 #i9 44 67 W e

Wey: =07 || F =gasT T ghie?

Apple Dream Orbit Space 67 100 44 35

U g aiifde @ 67 100 44 35
le Dream Orbit 35 44 Space 67 10

35 44 67 10
Apple Dream Orbit Space 44 35 67 100

Twme SiF Hifde e 44 35 67 100
Apple Dream Orbit Space 100 67 35 44

Apple Dream Orbit Space 100 67 35 44

QNo: 7 Rayi ranks 12 from the top and 21% from the bottom in a class. How many students are there in the class?

g Fdewra 12N T wRE iR R 3215 o w2 Fen & fhas 89 §7
31

31
33

33
34

34
3]
32

Q.No: 8 | In each of the follewing questions, a word is transformed into another word by applying a specific alphabetical pattern to each of its
letters. Identify the logic used in the first pair and apply the same logic to the second word to determine the correct answer.
BLUSH : DMQWI :: CRASH : ?

FAe=fefEd udess Uy o, g 915 i 39 Udeh &R UL Uk (A1 quinTelt Oe o] shdch g8 U<c § Jeol 7147 g1 Ugdl e § Uged ddh
&l ugaTg o Hgt Iax FaiRa & & foig 3t 9 ol ga? 2= iR @ Fifeig)
BLUSH : DMQWI! :: CRASH : ?

FSSXY

FSSXY
HITZ

HITZ
GHHUT

GHHUT

Q.No: 9 | In each of the following questions, a specific relationship is given between two words. |dentify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option frem the four choices given below.
Gravity : Planet :: Magnetism : ?

FrafelEa o v | < U=el & o9 o fafave "y G mr &1 99 areg & uggm i St 57 70 g & ary 99 o dee e
eal g1 A 6y g TR e & & 999 Suged fdeed gy
TN : Ug & dched : ?

Mass

FRIEIE]
Electricity

fereTett
Morth Pole
SEREC]
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Q.No: 10  You have three tasks due:
A project worth 50% of your grade (due in 3 days)
A team meeting (in 1 hour)
An optional quiz (due tonight)
What should you do first?

3Maeh U JH & g:
3T IS & 50% & =RTe &1 Wioae (3 A1 3 grr e 8)
e & difdr (1 g2 1)
Ueh dehfeleh UL (ST I &1 U1 AT 8)
ATUh! TE Uge o7 AT 91igy?
Start the project
Uoiae URY &hi
Take the optional quiz

dehfeteh WA o

Attend the team meeting

REE RIS
Review all deadlines again

goft Tg-dimrert 1 7 Tl =

QNo: 11 ldentify the pair of letters that will replace to form a meaningful word.

ST__Y
el & I WIS ol ugaH Wil Uek Arefek 91=g S & foiy uiazanfug gy
ST__Y

Al

Al

OR

OR

AL

AL

QNo: 12 | If 6 people are seated at a round table, how many distinct seating arrangements are possible?
Tl 6 AT e Tt Aol U &S 8, dl fhed=it AeT-1er da- <l eereyn 94d 27

360

360

[/ 2()

/20

120

120
240

240

Q.No: 13 Read the situation and choose the best judgment:
You are the manager of a team. Two of your teammates get into an argument in front of clients. What should you do?

=fa =t aust oty walw fFAvfa &:
AT Ueh E17 & FeR g1 31U &f a1t Feliscy o 9/ 959 | US Old ¢ | ATk 4T ST a1igg?

Fire both of them for misconduct

TR & g & @ A & R &

Ignore it, it's a common workplace occurrence

Y ARSI &Y, U8 HRIA U g+ dTel! Ueh 9THII 9241

Immediately scold them in front of everyone

Tid Taeh 919 3¢ i

almly end the argument, apologize to the clients, and speak to both teammates privatel
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Q.No: 14 In each of the following word-number pairs, the number represents the sum of the alphabetical positions of the letters in the word (A
=1, B=2, ..., Z= 26). Four of the pairs follow this rule exactly. One does not. Identify the odd one out.
STONE : 73
GLASS : 58
BRICK : 43
WALL : 48
CEMENT : 60

frafafEa vl v=e-dw gm F, T v & el & auigeis R s am et gaidi g (a=1,8=2, ..., 7 = 26)1 IR g™ 34 A
1 U1 7XE UTel &d & | Ueh g7 gl hdl| Siel G &l UgdH dhifalgl
STONE : 73
GLASS : 58
BRICK : 43
WALL : 48
CEMENT : 60
BRICK : 44

BRICK : 44

WALL : 48

WALL : 48
STOME : 73

STONE : 73

Q.No: 15 Four of the following five pairs follow a similar letter-coding pattern. Identify the one that does not belong to the group.
CRUSH : XIFSH
BLAST : YOWHG
FROWN I UILRM
HAPPY : SMNMB
SNAIL : HNVRO
Question: Which of the following pairs is the odd one out?

i ufe | & IR g7 Uoh §HIF A8R-aRITET O e R0 Sd 81 39 T &I ugar Iy ol 39 |9 € H&6fdd 181 81
AT © XIFSH

AT © YOWHG

TRIA @ UILRM

gudt : SMNMB

HYET : HNVRO

us: FAfifEa d @ o= 91 gm 38« 8?2

CRUSH | XIFSH

CRUSH | XIFSH
FROWN @ UILRM

FROWN @ UILRM
HAPPY : SMNMB

HAPPY : SMNMB
SNAIL : HNVRO

SNAIL : HNVRO

Q.No: 16  Find the next term in the given letter series:
YZYWYZYZ, YZYZWYZY, YZYZYWYZ, YZYIYZWY, YZYZYZWW, ?

& 7T e YTgeT | ST U A1 Ty
YZYWYZYZ, YZYZWYZY, YZYZYWYZ, YZYIYZWY, YZYZYZWW, ?

WWYZYZYIW

WWYZYZYIW
YZYZYWWW

YZYZYWWW
YZYWYZYZW

YZYWYZYZW


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 17 In & certain code language: BRIGHT = HTGIRB, DARK = KRAD
What is the code for LIGHT?

g Uk TI9W i3 oo & fear man &: BRIGHT = HTGIRB, DARK = KRAD
LIGHT =T ShiS =T ghmm?

TGHIL

TGHIL
TGLIH

TGLIH
TIGLH

TIGLH

Q.No: 18 ' In each question below, two pairs of letters are given. The first pair has a specific relationship between its letters. Identify the
relationship and choose the correct option that completes the second pair in the same way.
I : XV iiTR:?

A g Ty udeh wu & asri & ol g U e &) ugel g & agrl & dig Ush fafie Uy &1 Ay ugany ofik 39 el faehey ol 9aH

FIfig St gaR g ol o It IR 1 et B
V:XV:TR:?

Q.No: 19 | If the input is: apple 12 orange 7 banana 15 and the logic used is to arrange numbers in ascending order and words in alphabetical
order, what would be Step 27

R YL &: apple 12 orange 7 banana 15 3R deh Og ¢ fok deall ot At A d qur =gl <l quiarer &a & =af@q fohan @y, |t
X7 2 T gIT?

15 apple 7 banana 12 orange
15 apple 7 banana 12 orange

apple 12 banana 15 oran

apple banana 15 orang
7 banana 12 orange 15 apple

7 banana 12 orange 15 apple
7 orange 12 banana 15 apple

7 orange 12 banana 15 apple

Q.No: 20 Read the situation and choose the best judgment:
You are on a crowded public bus during peak hours. At the next stop, an elderly person using crutches boards the bus, and all the
seats are occupied. People around you seem to be avoiding eye contact.

ot ot waed ofiv waet areeT Fofg &
AU =5 97 A gen His- WS Al adwis @9 A 1 anTet €U W, SURd! & 38R U o aied 99 A Tedl 8, oflk @t did +1 gd )
AT ATH-UR & w7 Y A9 e & 99d 997 ard g1

Call out loudly, asking if anyone is willing to give up their seat for the elderly person.

SR @ R o U o ¥ o enfa & forg o die ot @ daR 2

olitely offer your seat to the elderly person

AchA
Remain in your seat, assuming someone else closer to the person will offer theirs.

Ao Hie = 9% I, g A & 39 =fay & e 2 g aafay amgt ofie & &)

Inform the bus driver that there's an elderly person standing and they should ask someone to vacate a seat.

=9 9Teieh &1 9414 ok agi Ush ol afae @e1 g ofiR 35 fomelt © Iz @rell - & o1 ahgen =1igal
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QNo:21  Complete the series: 10, 14, 23, 39, 64, ?

Sjxae & O Y- 10, 14, 23, 39, 64, ?

Q.No: 22 A can do a job in 12 days B in 18 days. A works for 3 days then B joins. Total days to finish?
AfFfigmai 12 Ao i am et 18RI W aam 81 4, 3R em axar g, IR e W anfE S o 8| s Q@ e
et fepart fée aiine

8 days

8 i
11 days

1A
12 days

12 feq
10 days

10f=

QNo:23 Read the following statement carefully and identify the conclusion that follows.
Statement: "People who regularly exercise are less likely to fall ill."
Cenclusions:

I. Regular exercise improves immunity.
Il lliness is directly linked to lack of physical activity.

ffeiad syH ! @ @ ud afi sy Hahred|

R "l @ A FU 8 G dd g, 34 dHR UgH i 9EEr A gl g1
Bl

1. FFraffg =™ & 3 afeRiae e 9edi 8|

1. STt &t Tty dey amifes afafaf S S 8

Only conclusion | follows
chadl sy | SERU Hedl g
Only conclusion Il follows

thadl st || STIER0T hedl &

Both conclusions | and Il follow

S et | ofiX 1| SrgERuT hed §

Q.No: 24 In a class of 88 students, girls are 5/8 of total, Rahul is 16th from top, 12 girls ahead. Find number of boys after Rahul.

88 BTHI <l Ueh a1l H, TTSTehdl hl AT Fel 1 5/8 &1 TgeT Sux A 168 U W g, 3K I6H 12 wrsfhal il §1 Age o A1e Aol el
& A1 iy |

24
24
29
29
27
27
25
25
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Q.No: 25  Five persons are sitting in a straight line facing north. S is second to the left of T. R is to the immediate right of T. U is not sitting at
any end. Wha is sitting in the middle?

Ui ey Yok Wt ¥ A SR il eiR e aech 6 1S, THh AU g W W IR, Th Sk a¢ g1 U fhell s sR e =gi dr g1 g
T BT &7

‘

Q.No: 26 If Morth becomes South-West, what will West become?

afe IR aferur-ufg gt =g ot ufem @ o= smem?
Morth-West

ITR-ufgy

East

South-East

Zfaor-gd

Q.No: 27 | Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
A. DATE : EXWH
B. READ : SFBC
C. FISH : GJTI
D. BOOK : CPQL
E. CARD : DBSE

Fe=fated uia 9 @ 9r ga [Aigd 0 @ 9 § ok 39foY ve @ 991d 81 98 917 91 8 ©ff 39 99g € gefed 781 82
A. f&AieR: EXWH
B. UgAT: SFBC
C. Ha+1: GJTI
D. gTeR: CPQL
E. @13 DBSE
BOOK : CPQL

BOOCK : CPQL
CARD : DBSE

CARD : DBSE
DATE . EXVH

DATE ;. EXWH
READ : SFBC

READ : SFBC

Q.No: 28 Observe the following incomplete letter sequence carefully:
aa_bbc_aa bb_aaac cc.
A specific pattern governs the order and repetition of the letters. Choose the option that best fills the blanks (in order) to complete the
sequence logically and symmetrically.

i aTuuf siaR S @ AMyEd ¢
aa_bbc aa bb_aaac cc.
HeR! & & SR YRR ol Geh A det Fafa o2dn §1 g &t difdhen ofR Imfia ®U € g1 &34 & foy Red @l &6t wigi=a &u
& WA arel foehed ol 999 &Yl
cabb
cabb
acbb

achb
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cabc

cabc

Q.No: 29 Statement: Emotional intelligence enhances leadership, but without technical expertise, leaders may fail to meet organizational
objectives. Conclusion I: Emotional intelligence alone is not enough for leadership success.
Conclusion II: Technical expertise ensures effective leadership.
Which conclusion follows?

HYA: HIGHTHG ieghd] A &l Gg1dl &, wifchT dehrieh! fagts=rar < f&n, a1 Siraars 3g3d! &l g1 e H fathel 81 9ehd &1
e |: A T awerdn & fog dhad wiaATeTes giga=n & vaha =t 21

e 11: FoeT1eh! fasiesTar ot g gRfEa St 81

FHE i &1 ey Manetar 87

nly conclusion Il follow:

|| HTHROT e

only conclusion | follows

chadl s | SERU Hedl g

Meither conclusion | nor 1l follows

7t Feened | aflR 7 & 11 SR Fear g

Baoth canclusion | and I follow

fomef | 2R 11 ST IR0 e &

Q.No: 30 Observe the follewing incomplete letter sequence carefully. A specific pattern governs the order and repetition of the letters. Choose
the option that best fills the blanks to complete the sequence logically and symmetrically.

Xy_z Yy X Yz ZyX

frfafEa ogpl s1aR o7eR ol ey SRAT1 HERT & A SR T-RIgH ol o A et i sar 81 oigepA ol difches ok
Tafd =0 A 1 & & forg e Tl &t g9iaa =9 & 9= T fdees 9Tl
Xy_Z_y_X_YZ ZyX

Q.No: 31 A man walks 3 km west, then turns north and walks 4 km. How far is he from the starting point?

Ueh AT ufgH T 3R 3 fonrdt =rerar 8, i IR & 1R g3t 4 fhdt Tefar §1 98 Ui g 3 fhafi g e @7
6 km
6 frdt

4 km

4 fopdy
5 km

5 fepet

Q.No: 32 Six friends A, B, C, D, E, and F are sitting in a row. C is sitting te the immediate right of A. D is not at any end. B is sitting between D
and E. F is sitting at one of the ends. Who is sitting to the immediate left of B?

eI B CDEARFUGURIASSEIC AS S dRadoT gl D fieR mAg g1 B, DAREF TT A o1 81 F el U
DR IR AST &1 B & Sieh I1E AR &1 F57 &7

Mmoo e =
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Q.No: 33 | A can do ajobin 10 days and B can do it in 15 days. If they work together, how long will it take them to complete the job?

AfFdt wm st 10 A d e aar g ok 6 ST am &t 15 7 & e aar 21 orR 3 S fierer M &, @t 3 am @ A | e
HHY TAI?
5 days

5
6 days
6 feT
9 days
9 &

Q.No: 34 In the following question, which one set of letters and numbers, when sequentially placed in the blanks of the given letter-number
series, will complete it logically?
u_v_w_35x_40y_45z_50

ffafea v |, el ik dwsi &1 i o aeg, 4y 1Y sieR-Tve e & Red =l | sl U @ @ 1R 34 difda 0 d gu
FH?
u_v_w_35x_40y_45z_50

28, 45, 31,67, 39, 89

28, 45, 31, 67, 39, 89

21,22,30, 36, 41, 45

21, 22,30, 36, 41, 45

0, 25, 30, 36,41, 4

30, 67, 32, 56, 38, 45
30, 67, 32, 56, 38, 45

Q.No: 35 Read the following statements and conclusions carefully. Assume that the statements are absolutely true, even if they contradict
common knowledge. Based only on the given information, determine which of the conclusions logically follow.
Statements:

All engineers are smart.

Some smart people are creative.
No creative person is dull.
Conclusions:

{1) Some smart people are not dull,
(2) some engineers are creative.
(3) some dull people are smart.

{4) Mo engineer is dull,

FA=fefEd SuHi ol fHewul &l wHydes ud| aH o foh Sy quia: 9 g, 9ol €1 4 9 9 & faudd gt shaet 1 718 SRl & ey
0, e &3 fo & a1 FAeh difdhes &0 & 801 &3l g

Y
goft SfifR IfgEm g 81

FO YfEH AT FTATHS gid g

i3 off TR cafdd g =gl gian
Fred:

(1) %o IfEA = T T |
(2) T SoiifaR 91 gid 81
(3) T® g& dim gfigam gid &1

(4) g oft o= &= 3¢ g

only (1) follows

had (1) SR YT 3
All (1), (2), (3), and (4) follow

T+t (1), (2), (3), 3R (4) Srgeeor el &
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only (1) and (2) follow

&ad (1) oK (2) IE=0T e &
only (1), (3), and {4) follow

&ae (1), (3), oMR (4) ITEW FH &

Q.No: 36 Introducing a boy, a girl said, "He is the son of the daughter of my father's brother.” How is the boy related to the girl?

Uk ©isch o1 U= & §U, Uk tigen! A Thgl, "dg HY fUar & e ol it &1 G 1" wigeh wiseh! 4 fondl e Heifdd 87
Brother
wg
Nephew
P[]
Cousin

EEL

Uncle
EIEL

Q.No: 37 MNeeraj is a B.Sc. graduate with 65% marks. He has completed M.Sc. but has no work experience. He is willing to undergo a probation
period of one year. Age: 26 years as of 2017. What decision should be taken?

1T 65% T & ATy SIUIRN FaE &1 39 QHUaH O F off &, ifeh 39k U iE i argd A1 &1 98 ek 9 I aRdier eEfa g
TSR &l dUR g1 A: 2017 dek 26 941 o1 oy ferar s 9nigy?

Select the candidate

IHEaR &l g i

Refer to Vice Principal

30 uaR & TU B

Information inadequate

SRR i

g o TUeh ohe)

Q.No:38 | A says to B, "You are the daughter of the only son of my father." How is A related to B?

A, B Y Thgdl g, "d0 B U & Sehtd QA hl G BT A, B € g Tor SEfia 87
Father

foar
Aunt

=TT
Mother

At

QNo:39  The sum of two consecutive odd numbers is 24. What is the larger number?

g1 sETTd o denar o1 o 24 g1 91 dem e 9 g7

15
15
17
17
1"
11
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Q.No:40 If + means -, + means +, - means x, and x means +, then,
whatis25-3+5+ 10?7

g+ F -, + AT+ 8, - B AT =« g, R x Frord « g, At
25-3+5+ 10 E?

QNo:41 Eight persons - A, B, C, D, E, F, G, H — are sitting around a circular table facing the center.
C is third to the right of A.
E is second to the left of C.
B is opposite A.
D is to the immediate right of B.
G is second to the right of F, who is not an immediate neighbor of A.
Wha is sitting to the immediate left of D?

ang =fedT - A, B, C, D, E, F, G, H - Ueh g<ITeh Al o 91 3fX &g o1 3R 9 &¥ehs 98 &
C, ASh aT2 R a1 81

E, C h 918 3R ¥R B

B, A faudla g1

D, B & &Ik 312 9k 21

G, F & TS 37X ¥R 8, Wl A T FHchcan USHdt =gt g1

D & Sleh @18 3R 1 997 872

‘

Q.No: 42 Identify the odd pair:
o T 6t ug=EH &
13-17

13-17
24-28

24-28
19-23
19-23
0-3]
L0-31

Q.No: 43 A class has 120 students. Number of boys is twice that of girls. Rohan is ranked 28th from the top. If there are 18 girls ahead of him,
how many boys are behind him?

Uk a1 & 120 B g1 Asah! oh! el dAsihdl @l @ § SR §1 181 IR & 28 ™H W g1 afe 399 3t 18 wisfal 8, dt 99 Ui
et ek 87
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Q.No: 44 Identify the odd number:

fawe g ugam:
8}

QNo: 45  Fill in the blank: 2, 6, 15, 31, 56, ____
e . 2,6, 15,31, 56,

Q.No: 46 A word-and-number arrangement machine rearranges a given input following a specific rule in each step. The rule involves moving
the alphabetically smallest word to the leftmost side and the numerically largest number to the rightmost side in each step. The
process continues until all words are arranged in alphabetical order at the left end, and all numbers in descending order aft the right
end.

Based on the pattern, answer the guestions that follow the given input.
Input: Shine 34 12 Gravity 91 20 Echo Bounce Mirror 73 50
Question: Which word is placed at the 3rd position fram the left in Step IV?

Teh 2eg -SR-S saa e A Uedieh =R0T H Yeh A8 a9 o1 Urer &hed gy f6U 71 37¢ & Gedaiedd ol 81 39 a9 & gER,
Uieh TR0 H GUIHTET o SHR =4 BI¢ 7= i G4 18 3R 3R T=IAS U d G4 92 G=A1 ! 944 alg AR o Sidn <idl 81 98
Ufehdl a9 deh 9T (gl @ oid deh foh 9oft 21eg T8 3fi auimren 6y § it @it Ty 218 ofle orasiel o & =afeid 9 gf oo |
29 O & SMYR WR, f&U 74 3Ye & are feu g usl & 3= difeig)
FE: THE 34 12 TEATRYUT 91 20 7T ISAT 181 73 50
uer: TR0 |V H 918 R O Y T UR ki 9T 9158 W T a7

Echo

%ﬂ

Gravity

Bounce

%

Q.No: 47 In each of the following guestions, two numbers are given which follow a certain logical or arithmetic relationship. |dentify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
40321 : 62543 :: 56120 : ?

fafafEa v vy | & o § T8 € ot U M arféhes ar i dey &1 ureH edl 8| T e 6T uga S ofit IR
Sits # o I A e o folg I9eRt waiT fifeg | 6w 1y fasedt & € 98l faeney gy
40321 : 62543 :: 56120 : ?

67342

67342

78343
78343
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78331
78331

Q.No:48  Complete the series: 0,1,1,2,3,5, 8,7

YgEAl R QAL 0,1,1,2,3,5,8,?
12

Q.No:49  Select the correct option that will complete the series.

(3, 10), (5, 28), (7, 54), 2, (13, 178)
Ig TE! faeheT MY A1 ofEer &l OX S|
(3. 10), (5, 28), (7, 54), 2, (13, 178)

(8,72)

(8.72)

(10, 95)

(10, 95)

(9, 81)

(9, 81)

(11, 126)

(11, 126)

Q.No:50  Find the odd one out:
[ELERCEH
231

231
123

123
312

312

PART - B (General Awareness)

Q.No:51  What is the main focus of the Beti Bachao Beti Padhao (BBBP) scheme launched in 20157

2015 # % &1 S I sr=nalt < ugren (=) aiamn s AR wied 91 8?2

Housing for women

Aigematt & fog ama

Financial inclusion for widows

farerenatt & forg fo<ita garee=

EDl -gT0- Ud 19
Promoting rural entrepreneurship

arfior IaffET @t 9gmar &
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Q.No: 52 Which of the following simple household methods can detect the presence of chalk powder in adulterated wheat flour?

frferfed & 4 =i o et w3 O fiemadl g & amé & =91k urgsy <l Il =1 udT o deRdl 87

1Xing with vinegar to observe fizzing reactio

J a9
Adding iodine solution to observe color change

7 uftad= 3w & oy e aie Ao

Heating over flame to detect odor

T(%] SRT U1 @I+ o folT &1 U= 7 e

Soaking in alcohol to dissolve the chalk

Teh &l HIeH & ol areehigel o famT

Q.No: 53  Consider the following characteristics:
1. High meisture-retaining capacity, often developing deep cracks during dry hot weather.
2.ldeal for tea and apple cultivation due to high fertility and cold climate preference.
3. Rich in lime, iron, magnesia, and alumina, but poor in phosphoric contents.
Which of the above characteristics are primarily associated with Black Soils?

Frafafaa Retumat wr far =8

1. 3= T YRUT &79T, 75k 3R 7H 5199 § SRR Mgl &2 g 9l 8l
2. I oAl o &1 S o R0 91 AR A &l Gell & g amesf
3. AT, g, AT ofik Uegfie € oRR, wifh WIehiRe dwl Gl St
IuRlad H & i dY ey 5w wu 4 el g @ o2t g7

only 1

chad 1

Only 1 and 3}
chag] 1 3[R 3
only 2 and 3

haa 2 Al 3

1, 2 and 3 are correct

1,23R3wEE

Q.No: 54 Consider the following statements:
Statement I: The Industrial Policy Resolution of 1956 aimed to promote private sector dominance in all key industries.
Statement II: The Industrial Policy Resolution 1956 classified industries into three categories: fully government-owned, mixed sector
with government lead, and private sector.
Which of the above statements is/are correct?

Frafaf@s st  Rer R

&Y |1 1956 T afeilfiles i Heney 1 SE=g it v SeinT & it & 3 e ol SemET &1 Tl

U I afferfies Aifa deea 1956 3 I &t 519 A0 § affera o O oRg @ TR @it a1e, TR A9 aren BT g
3R it &)

Iuded wuEl | € @ w1/ Tt 3/8?

Both statements | and 1l are incorrect

wyF | T 1 EH Tea &

tatement | 1s Incorrect, Statement Il 1S correc
| TTefd 5, =h¥ |l

Statement | is correct, Statement Il is incorrect

&Y | WEl g, Y 1 Td g
Both statements | and Il are correct

HUT | i ST agr g

Q.No: 55 Under Chapter V of the Bharatiya Sakshya Adhiniyam, 2023, which of the following qualifies as primary evidence?
WRATT grag AfAFmH, 2023 & s V & siavid RAfef@d 7 9 w9 arufi arsg & wu d gt g2

A counterpart document executed by one of the parties

oY U uet g1 fAemfea nfaey s

A photocopy of the document signed by a clerk
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Fefch I ge1SIRd S¥dTaw hi ek Whiciep Ul

A handwritten summary prepared later

g15 # JaR fehar mar ues gafofEa arder
A typed copy of the original document

e &1 & 23y Y 78 Uy

Q.No:56  Which Chala ruler is credited with the construction of irrigation systems to support agriculture?

Ig =i MEE T o1 o= Y &t gerar 33 &g =g vonfert &1 At seamr?
Raja Raja Chola |

AT Tl et HH

HEE Iy H
Kulottunga Chola |

ERISURIER R
Aditya Chola |
anféag a9 Ty

QNo:57  Who was the first Indian to receive the Mobel Prize in Literature for Geetanjali?

aieifer & forg T1fgeg & e (3R U &3 a1t Ugdl MR A 947

Salman Rushdie

A F5T
abindranath Tagar

Arundhati Roy
aHuld g
R. K. Narayan

AR, @h. ARMEOT

Q.No: 58  Consider the following statements:
1. Ramjets operate efficiently at hypersonic speeds.
2. Dual Mode Ramjets can work in both subsonic and supersonic modes.
Which of the statements given above isfare correct?

F=afafaa st R Rar &3

1. ¥vie BEUREHS Tfd U HRIATgdD i Ted ol

2. §OIT HIE Toic 9adiieh 3R GURHIh el A1 § FIH e Gahd 8l
FR feu oyt & 9 ot O adt /82

2 only
2 ad

Neither 1 nor 2

qdr1, 9812
Both 1 and 2

1 iR 2 g1
1 only

1 <had

Q.No: 59 ' In collaboration with which country is ISRO developing the Trishna satellite for high-resolution thermal infrared imaging of Earth?

39 e 31 & weam € et Y I=3-Rifeg@ omid 3R afe & g gwon Suug Refia = wie?

USA
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France

Thid
UAE
T R IR

Q.No: 60  What is the radius of the striking or shooting circle in hockey?.
gidh & Trsfeh T a1 e Ther &l Rwar r &2

16.78 meters

16.78 ez

13.2 meters

13.2 Hiex
14.63 meters

14.63 Hiex
6.475 meters

6.475 Hiex

QNo: 61  Why does a skilled cricketer move his hands backwards while catching a fast-moving ball?

Uk 2 feohehe? o 1T I 311t 71 1 Uehagd 9 3iu- g1l &t Uied bl 3R -l of ST g7

To apply a greater opposing force on the ball for a quick stop.

iz w1 3fter e & oY 98 W fle 3w drm

o reduce the force by increasing the time over which momentum changes
HHY oh dgldh? g ohl h¥H chad-dl

To increase the speed of the ball during impact.

UWTE & M 1ig &hi Tid sgM o g

To decrease the weight of the ball using gravity.

TSR UT &1 JUGIT ehich TG Tl dol hH ATl

Q.No: 62 | Given below are assertion and reason, read the statements and choose the correct option.
Assertion: The Treaty of Paris (1763) limited French settlements in India to trading posts only.
Reason: The French could no longer station troops or fortify their factories after the treaty.

a sy 3R Ror g Mg &, FyT 1 ud ok wgt e g
A ofeg i 4fd (1763) 7 v Ra § wid sl = daw e Dl g difta ==
HIROT: HY & =12 Wi 3 G 981 3419 e Fehd & AT 307 hIREH! i TWlEd T8l & Tehd I

Both Assertion (A) and Reason (R) are true, and R is not the correct explanation of A.

rfereRe (A) ofiX 0T (R) EFT O €, 9YT R, A T U1 WEIE g1 &

oth Assertion (A) and Reason (R) are true, and R is the correct explanation of A

(A) 3T o7 (R) 2FT Ocd &, duTR, A
Ais true, but R is false.

ATT g, @l R 3T BI

Ais false, but R is true.

AT B, AT R AT B

Q.No: 63  Which body has the power to amend the Union and State power distribution under the Indian Constitution?

YR Gfdu & oidifd &g o el & o et & oo & dartem &2 &1 fder g g &1 o &7

Supreme Court
qta &E

Lok Sabha
AT

State Legislature

T fauHse
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Q.No: 64  Consider the following statements:
1. all-India Services common to Union & states.

2. Controlled by state governments only.
Which of the above statements is/are true?

e sy=t o TR fifeg:
1. 1fEe YR dard 99 < Isut & fog 9a= 21
2. &had T TGRI g HafEdl
IRl FuAl § 4 & 91/ aw &8
Both 1 and 2
1 3w 2 g1
only 2

hae 2
Neither 1 nor 2

qar1 afiRTE 2

Q.No:65  What is the role of the finance minister under the FRBM Act?
FREM AT & siatia fa #all T YfAesT T gidt 87
To regulate the stock market

SR AT it A s

To oversee disinvestment strategies

faferesr wordifaat i FRet e

To manage foreign trade policies

faeft sarur hifaaf =1 g

To present fiscal policy statements to Parliament

T § TNy i aaen uegd e

Q.No: 66  What strateqic rationale drives India’s investment in Iran’s Chabahar Port?

X & I1=gR d59g B YRd & s & e a1 Wi a9 82

0 reach Afghanistan and Central Asia bypassing Pakista

X A TR dh
To monitor US naval operations

T A sl i FRET & g

To build naval bases in Iran

A | A org 791 & fag

To import natural gas from Saudi Arabia

THE IR F AT 19 amaTd & & g

Q.No: 67  Which of the following statements isfare correct regarding the regional features of Gujarat's medieval architecture?
1.Architectural forms in Gujarat often incorporated elements from local temple traditions.
2.5tructures such as mosques and tombs in Gujarat featured ornamental carvings like toranas and bell motifs.
3.Gujarat’s architectural style strictly avoided any decorative influence from indigenous practices.

TSR hl AT dIEdehell chl &1 famuaradi & dey & ey & @ = a1/@ oy ad g/8?
1. ToRId & TMUG ®UI # 3R WY |G et & a i gid 91

2. Toa F AT off mena St deamrei & JiRor afik 9t At awradl et gt ot

3. ORI <Rl R grefl # wéeft nurai & fondt ol gomadt uvma o wdt 9 ugst fovar man o

only 1
had 1
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2 and 3 Only
dhad 2 3R 3

All 1, 2, and 3 are correct

it 1,2 R 3T €
1 and 2 Only

hae 1 AR 2

Q.No: 68  Which of the following statements best captures the essence of Malthus' theory as outlined in the passage?

FrafefEa § 9 F 91 Sy e 8 ST Aeyd & [Bgid & IR & 999 3= o<g 9 garfarg?

he natural imbalance between food supply and population growth leads to unavoidable hardships unless population is controlled

deh SHEEl T Y WIT, @Tel STEET e S
Voluntary checks on population are more effective than natural calamities in curbing overpopulation.
TR UR Hfeeyeh FEAv, UTehfaeh ATt i g H afdes wTE 81
Population grows in arithmetic progression, while food production grows geometrically.

ST AU 9 & Sadi ¢, Siafh EIeTF e saiaad H 8 941 gl

Agricultural production can grow faster than population with technological advancement.

dereht Ffd 3 H1Y Y Jeure wEEgT S g1 | itk doll A 9¢ HWehdT 81

Q.No: 69 Read the following statements:
Statement 1: The temperature in Troposphere decreases at the rate of 1°C for every 165 meters of height.
Statement 2: The temperature in mesosphere starts to decrease with the increase in altitude and reaches up to =100°C at around 80
km.
Which of the following statements is/are correct?

Frafafaa syt &t ug:
FHYUF 1: efivsd | 9roE gl 165 Hie 6 $9E = 1°C H1 X @ gear gl
FYUA 2: HLGHSA § ATUA HTE 9¢- o F1Y 92 o7Tal g SR w97 80 fahHl 1R -100°C Tk ugH Wi 8| Fr=ifeif@a J @ =19 @ ue
el 8/a?
Only Statement 1 is correct
had YT 1 Far g

Only Statement 2 is correct

had hYF 2 TEl g

Both statements 1 and 2 are incorrect

Hyq 1 3 2 S T &

Q.No: 70 | Given below are assertion and reason, read the statements and choose the correct option.
Assertion: British capital accumulation in the 18th century was reinvested in industrial development.

Reason: The capital was largely controlled by merchants and industrialists instead of the feudal aristocracy.

i Ty ok wRUT e Mg §, Syl &t ud ofk wdt Rerea g
e 18T araredt o fafear Ush d= it sftenfier e & gaiataa frar ma an
FRT: Uil U 1A st af o S sqranial ofi Seimafcat s fAgsor o)

A s true, but R is false.

AT g, vifehd R 3T Bl

Both Assertion (A) and Reason (R) are true, and R is not the correct explanation of A,

AfFHYA (A) 3R FROT (R) ST 90 €, dYUTR, A T TeI TIEH ol gl

oth Assertion (A) and Reason (R) are true, and R is the correct explanation of A

(a) 0T (R) A g, dUTR, A Hl
A s false, but R is true.

ATT g, AT R IR
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QNo:71  Who among the fellowing is the final interpreter of the Indian Constitution?

FfefEa d 9 vyrdha dfaus o effas amerar s 82

The President of India
R o AFUf
The Prime Minister

TETHST

he Supreme Court of India

The Parliament

BRI

Q.No: 72 | Which of the following accurately describes the statutory responsibilities of the Lokpal under the Lokpal and Lokayuktas Act, 20137

FeafafEa d 9 &9 o &= dieurd o diegad Sfifm, 2013 & dgd aieurd & Jurfs et o1 aie auid & g7

The Lokpal is mandated to provide the President with an annual report, which will be laid before both Houses of Parliament.

dteRuTe t Tpafa &t arfiies RUiE Iueey awm o1 arfda i o g, ford dae & <=1 agA1 & 9wst T S|

The Lokpal operates under the direct administrative control of the Prime Minister's Office.

TATeRUTA WUTHEHT AT & Wedal R FH=ur § &ri el gl

The Lokpal must submit regular reports to the Election Commission for public disclosure.

TIRUTE ol TTdwli-ieh Hehe 1<l oh Tolg g1 ST ot Fraffa RaiE aega &t gt

The Lokpal is a constitutional body tasked with making final judgments in corruption cases

FAlehUTd Teh Haei-eh Feg & foiehT &1 YR & 9l § <ifan fFofa a8

Q.No: 73 | Which of the following methods was used by the villagers during the Chipko Movement?

et enigied & SRI9 Wi aTel J &9 91 JEieRT U= 41?

Violent protests

feae fey

ugging trees to prevent cuttin

T,
Filing lawsuits against companies
el & [Ees qehen araR &l

Burning forest areas

ST gE aq e

Q.No: 74 An electric kettle is rated 2.2 kw, 220V. If the cost of electricity is €4 per unit (kwh), what is the cost of boiling water for 30 minutes?

Qe Seifagan chael! &hi e 2.2kw, 220v g1 Tfe farsTeft i @rTa 4 ufd giae (kwh) 2, 9t 30 e ae url Sare & amrd = g2
1.1

711
2.2

2.2
8.8

78.8
4.4

4.4

Q.No: 75 | The highest rainfall in India gets recorded in the Khasi and Jaintia Hills. In which state will you find these hills?

WRd & Haifeie auf @l iR safaan ugiisal # goi &l ardt 1 3 ugiizal g Tsa § Ra g7
Meghalayd

HETe]
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MNagaland
BUIGES

Arunachal Pradesh

TSV WesT
Assam

A

Q.No: 76  Under the Bharatiya Nyaya Sanhita, what is the punishment for maob lynching?
YR =< T & dgd iz grr g i gor aar g2

House arrest

R F TFoRad!

Fine only

chad SAMAT
Life imprisonment or death penalty
JTTa HRIEN a1 g6 s

Q.No: 77 ' In a two-sector economy, households provide factors of production to firms and receive income. If households save part of this
income, what is affected?

-2 anfemaen &, ufar &t &t Iae & 91eF veH wed € ofi amg o wed €1 ofe oRar 39 e o gy aEma €, St
wTfaa gl 82

The circular flow becomes a leakage

TR WaTg REmE o= war 8

Firm profits increase automatically

H oh1 HATHI d: 9 SI1dl &

Production output remains constant

IauTe Aeye AR war g

Q.No:78 | Which of the following statements regarding the Square Kilometer Array (SKA) is correct?

T fehaitie U (ska) & 999 & Fefoifea 8 3 =19 a1 wu= 9t &2

It is managed entirely by the European Space Agency.

SR UereH ufa: R efafer ol g1 foRar wan 21

It aims to explore cosmic magnetism and dark matter.
3hI I290 AlISIY deched 3fR Teh A ol S~<HU] HAT B
It focuses solely on detecting visible light.

g Sheot &3 U & Ud] @ UR & dhigd &)

It will consist of a single telescope in India.

3UH Wd | g g g5 i g

QNo:79  What does a high rank in the Henley Passport Index indicate?

SIc! UTHUTE aehieh § Io Tah o7 galtd 87

High economic power

I=g anfifer iRy

Strong military alliances provided to citizens

ANTRERT &l Foled 9 Tege HgH R T

g -ﬂaamwmqm J
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Political neutrality

T TR deRrar

Q.No: 80 ' Consider the following statements:
Statement |: The objective of "Growth with Social Justice & Equality" was introduced in the 10th Five-Year Plan.
Statement II: The first Five-Year Plan was based on the "Harrod-Domar model".
Which of the above statements is/are correct?

Fefafa sy w TR o2

YA | "grATGTe AR 3R GHECT & 91y S o Ie2g 1041 vaadiy gtern § ger fEhar mar un
Y |I: Ugell Ugauig gl "giis-SiHY Alsd " U= e ot

Iudert wuHT A & A A1/d "@l g/8?

Statement | is incorrect, Statement |l is correct

YT | TAd &, T e &

| 1]
Both statements | and 11 are incorrect

&Y | 3T 1| 2T et &

Statement | is correct, Statement Il is incorrect

HYU | TETE, YT 1 T &

Q.No: 81 'What role did the WTO membership (1995) play in India‘s post-refarm globalization strategy?
VR ! GURIR Sefieheor it & fasy somar d@en sl deear (1995) <t o sffirer of?

Strengthened balance of payments

WA el ol Huled fohar

eepened India s integration into

Abolished domestic subsidies completely

o] Afeis! UE1 aRE TAI e &1 T8

Encouraged protective tariffs

GRelTcHe SR &l wicaTied fohar

Q.No: 82  Which curve is typically U-shaped due to the law of variable proportions?
uftad-2iier SruTd & a8 & 0T i 91 96 9Ead: U SRR &I g1 272

Average Fixed Cost Curve
3ffgd Fifea ava 9
Average Variable Cost Curve

affga uftgd-g anTd 95

Total Fixed Cost Curve

T Ffga ard @
Marginal Revenue Curve
Hieid e gk

Q.No: 83  Which Mughal emperor did Maharana Pratap face in the Battle of Haldighati?

BERIUTE! oh UG B HERIUN UaTq = fehdl T7Tel THIe <l 91a-T fohar o172
[(AkDa
HETEN
Babur

CICES
Aurangzeb

TSt

Jahangir
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STerfiR

Q.No: 84  Which of the following is true about the Gudi Padwa festival?
1. It marks the beginning of the Hindu New Year based on the lunisolar calendar.
2. The term Gudi refers to a sacred scripture recited on this day.
3. Traditionally, celebrations begin with the consumption of sweets for good luck.

TSI Usdl digR & a1 § F=fofEa § 4 9 a7 vy asa g7

1. U8 d%-HIR Sheisd WR AU fdg 19 au &l zaiTd &1 Ul g1

2. T2 9Tz 39 3 U W Tt U ufe vy &) gefia sear &1

3. WA U ¥, 59 304 &l Y3 1497 & fog e @ 4@ gidt 81

1, 2 and 3 all are correct]

2 and 3 only
Fae 2 ok 3
1and 3 only
a1 4R 3
only 1
e 1

Q.No: 85  Identify the correct pairing between a plant hormone and its primary physiological function:

UIEy gTHIA 3R 38 UTifeh AR SR & ot Agt g &l ugar o

Gibberellin - Stimulating cell division in roots

oo - @81 & TR foye & Safed e g

thylene - Ripening of fruit

- thedl <hl
Cytokinin - Initiating abscission of leaves
OrEetsA - ufagl & fde &7 geema

Auxin - Promoting seed dormancy

ST - off e It &t TgmE &

QNo: 86  Which dance form is traditionally associated with the culture of Punjab?
-8 I UsTld &l URURS Hikhida SR 4 S[218?
Kuchipudi

gt

Yakshagana

Mohiniyattam

Mohiniyattam

Q.No: 87  Consider the following statements about the Trinity of Carnatic Music and choose the correct option:
Statement 1: Tyagaraja, Muthuswami Dikshitar, and Shyama Shastri lived during the 17th century.
Statement 2: The trinity elevated the kriti form to its highest artistic expression.

Fetes wifia 6t Bl & ar 7 Frafeles syat ww fEar Sy ofk ag e g
U 1: AR, YT Sifarar SR earHn et 1767 erared! § gu 41
T 2: Brffd 3 fa =0 Ft 36! Fei= wHeitets AT T Ugari|

= 1L & | o]
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Meither 1 nor 2 is correct

Adt1siRa@2ad g
only 1

hadt 1

Q.No: 88 Shobhana Ranade’s legacy as a Gandhian is most closely aligned with which contemporary governance initiative?

Qeh Tiefarél & wu H AT I8 Y AR o gHeRTel e ugd & ary gad Al Mevear @ Wl gg 87
Startup India

wream f3ar

ational Education Policy 202

& 202
Gaganyaan Mission

WA fHF
Swachh Bharat Abhiyan

oo R A

Q.No: 89 Prime Minister Narendra Modi paid tribute to Mahatma Jyotiba Phule on his birth anniversary. Phule is best known for his
contributions to which of the following?

THAT ¥ H1E = Aerr Sifae Gl el Il sl iR grgister siftid &I Gol &l Refeifaa § @ fegd 39 ahreM & fog St s
8?

Agriculture and commerce

S aite arfrey

Industry and infrastructure

Tt afte g gt

Military and diplomacy

&1 ik A

g‘?_ﬂ? -

QNo: 90  Which Maratha ruler founded the Maratha Empire in 1674, proclaiming himself Chhatrapati?

fore ARTaT 2TeR A 1674 # T &t SAuld Gt Sd gY ARIST HiETed ehi =TT &1 of?
Sambhaji
Hradt
Shahu
g

Shivaji

EISIHC R

QNo:91  Mame the major coal producing region located in Telangana state?

e o B T Wi gl IAe & & A1 Jd18y |
Singareni Coalfield

fEm-t e &=
Raniganj Coalfield

TS ShigeT 8
[alcher Coalfjeld
[T oh [T &1
Jharia Coalfield

= e 8
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Q.No: 92 Which of the following statements is correct in the context of constitutional interpretation and judicial doctrine?
e = A e fgia o def & Mefoiaa & € & o1 &ue a8t 87

The Constitution of India clearly defines the term "basic structure” under Article 368.

YT SfEu & o= 368 & Jiaila "Ou TXaFT" U i TUE w0 ¥ i foar m@n gl

rejected the idea of spirit-based interpretation and strictly follows the written text

The "basic structure" doctrine was brought into existence by the Supreme Court to protect the fundamental features of the
Constitution

wferen & Atferen [F2iwarat & 2an & oy af= <amed gr "ge SaAr” Rgia sfede # @mn mar o1

The Parliament can propose amendments that repeal judicial principles without limitation.

e fam ot T & ~onfes [gial &t e & arer dalte mRarfad &€ Ot gl

Q.No: 93 The India-Middle East-Europe Economic Corridar (IMEC) is often viewed as a strategic counter-initiative to which other major global
connectivity projects?

YRA-H gd-gRIy A1 SRR (ATSurzHt) ol R foh g ugw e SAfafad uRatsnsi & ufd wrifas ufd-uga & wu d
2ar ST &7

Trans-Pacific Partnership (TPP)

gig-Afafthes grd-fang (Eidid)

Asia-Africa Growth Corridor (AAGC)
TTAT-3MhTeRT 1Y iR (Tusii)

Belt and Road Initiative (BRI)

=vE Us 48 sl (femans)

North American Free Trade Agreement (NAFTA)
IR AR g SR TEEiar (TIgUmenT)

Q.No: 94 | Which of the following statements is/are true regarding India's rural and urban population trends from 1901 to 2011?
(1) The rural population has consistently increased in absolute numbers.
{2) The percentage share of rural population in total population has steadily declined.
(3) urban population first exceeded 100 million in 1981.

1901 & 2011 & ¥R & anfior 3R e T gl & day & F=afafeaa § 9 9 ar sy g« /82
(1) Trior ST 3 fFder S # wER g1 g8 ol

(2) ot S=reEan # ATHIOT SEEA] a1 Wi [GET o aR & g 8l

(3) arget e uged! AR 1981 # 100 ffem & arftes g¢ ot

Only 1 and 2

haet 1 3R 2
All of the above

FUT & G
only 1 and 3

a1 33
==
EERPACIE

QNo:95  Where was the Khelo India University Games 2024 held?
Wil Sfagr gf-aflér 1w 2024 Fel amifad foan mar g1?

umbal, Maharashtra

Bhubaneswar, Odisha

yadge, aifaan

Guwahati, Assam

TETBIE, 3rEH
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Panaji, Goa

TUTST, TET

QNo: 96  Which of the following correctly describes Mission Shakti?
1. It is an integrated women empowerment programme launched in 2022.
2. 1t is run by the Ministry of Women and Child Development.
3. The scheme includes Samarthya and Sambal sub-schemes.

F=fafea d§ @ a5 a1 g Wem afew & o avfa swarg?

1. 98 2022 ¥ [ [k 07 Ueh Uehlehd Higell Trfaaerol SdeH g1
2. 4g Afge g 91t [ Ao g1 Sarierd 21

3. 39 OeHT § 9 3R 9w IU-TTeg nfad g1

Il 1, 2 and 3 are correc
1,2 3
only 1 and 3 are correct

hael 1 AR 3 TG 8

only 2 and 3 are correct

thael 2 AR 3981 &

only 1 and 2 are correct

Hhaa 1 k2981 &

Q.No:97  How often is the World Happiness Report released?

ey vrar fié et I =t & ot 22

Quarterly

A
Annually
BIREL
Triennially

ECILED

Biennially

IFELEES

Q.No: 98 | When focusing on a tree while on an anti-clockwise merry-go-round, from which side does it appear and exit?

o o uSt it e fan & grd gy fonedht U W we S o €, It a8 e ot & R &ar @ ofie fohw ofiR & amgr Mieverar &7
RIg i

GT0 H STy
Always visible
Hed gy
Mever visible

it fearg 8 &ar
Left to Right

=g & gl

QNo:99  What does the term "Duckworth-Lewis Method" relate to in cricket?
fehche # "Schad-qgd A" areg o1 dey fhad 87
Fielding restrictions

eserur iy

Player ranking

Bowling speed calculation

Tie=Teft i <Y ToTHET
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Calculating revised target in rain-affected matches

Tuf mTfed A= 7 denfa wag & o

Q.No: 100 Which Constitutional Amendment Act made the Right to Education a Fundamental Right in India?
o daunfes defie afafgs 3 fen & afder &t wra & Hifos afdar g fear?

44" pmendment Act, 1978

44™ gafrery srferfram, 1978

42" pmendment Act, 1976

42" st afdfrae, 1976

97™ amendment Act, 2011

97" Gafter arfdfrgs, 2011

PART - C (English I.anguage and Comprehension)

Q.No: 101 Find the incorrect part of the sentence:
She is one of the best singer in the city.

singer in the city
She is one

of the best

Q.No: 102 Read the passage and answer the questions:
changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for years.

We often convince ourselves that massive success requires massive action. Whether it's losing weight, building a business, or
learning a new skill, we put pressure on ourselves to make some earth-shattering improvement that everyone will notice.

However, improvement by just 1 percent each day may not be noticeable in the moment, but over time it can be far more
meaningful. The same way that money compounds with interest, the effects of your habits multiply as you repeat them. The outcomes
you see in your life today are often the result of small choices made over time, rather than dramatic changes.

This is why habits are the compound interest of self-improvement. The longer you stick with them, the greater the returns. But just as
positive habits can compound in your favor, negative habits can compound against you. A slight slip in discipline today may not seem
like a big deal, but if repeated, it can steer you in a completely different direction.
Success, then, is not a single event—it is the result of daily choices, made consistently over time.
Identify the sentence with the correct use of subject-verb agreement:

The effects of your habits multiplies as you repeat them.

The outcomes you see in your life today is often the result of small choices made over time.

e effects of your habits multiply as you repeat them

The outcomes of your daily decisions determines your long-term success.
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Q.No: 103 Read the passage and answer the questions:

Changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for years.
We often convince ourselves that massive success requires massive action. Whether it's losing weight, building a business, or
learning a new skill, we put pressure on ourselves to make some earth-shattering improvement that everyone will notice.

However, improvement by just 1 percent each day may not be noticeable in the moment, but over time it can be far more
meaningful. The same way that money compounds with interest, the effects of your habits multiply as you repeat them. The outcomes
you see in your life today are often the result of small choices made over time, rather than dramatic changes.

This is why habits are the compound interest of self-improvement. The longer you stick with them, the greater the returns. But just as
positive habits can compound in your favor, negative habits can compound against you. A slight slip in discipline today may not seem
like a big deal, but if repeated, it can steer you in a completely different direction.

Success, then, is not a single event—it is the result of daily choices, made consistently over time.

What is the best meaning of "compound" in the sentence:

"Changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for
years."

To decrease gradually

To mix different elements

0 accumulate and grow over tim

To remain constant

Q.No: 104 Read the passage and answer the questions:
Changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for years.

We often convince ourselves that massive success requires massive action. Whether it's losing weight, building a business, or
learning a new skill, we put pressure on ourselves to make some earth-shattering improvement that everyone will notice.

However, improvement by just 1 percent each day may not be noticeable in the moment, but over time it can be far more
meaningful. The same way that money compounds with interest, the effects of your habits multiply as you repeat them. The outcomes
you see in your life today are often the result of small choices made over time, rather than dramatic changes.

This is why habits are the compound interest of self-improvement. The longer you stick with them, the greater the returns. But just as
positive habits can compound in your favor, negative habits can compound against you. A slight slip in discipline today may not seem
like a big deal, but if repeated, it can steer you in a completely different direction.

Success, then, is not a single event—it is the result of daily choices, made consistently over time.

Choose the best antonym for the word "discipline” in the sentence:

" slight slip in discipline today may not seem like a big deal, but if repeated, it can steer you in a completely different direction.”

Commitment

Determination

Focus
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Q.No: 105 Read the passage and answer the questions:

Changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for years.
We often convince ourselves that massive success requires massive action. Whether it's losing weight, building a business, or
learning a new skill, we put pressure on ourselves to make some earth-shattering improvement that everyone will notice.

However, improvement by just 1 percent each day may not be noticeable in the moment, but over time it can be far more
meaningful. The same way that money compounds with interest, the effects of your habits multiply as you repeat them. The outcomes
you see in your life today are often the result of small choices made over time, rather than dramatic changes.

This is why habits are the compound interest of self-improvement. The longer you stick with them, the greater the returns. But just as
positive habits can compound in your favor, negative habits can compound against you. A slight slip in discipline today may not seem
like a big deal, but if repeated, it can steer you in a completely different direction.

Success, then, is not a single event—it is the result of daily choices, made consistently over time.

What is the main idea of the passage?

Success comes from making one major change in life.

mall daily improvements, when repeated consistently, lead to significant long-term resulis
Negative habits have no real impact unless they are extreme.

Success is mostly determined by luck rather than effort.

Q.No: 106 Read the passage and answer the questions:
Changes that seem small and unimportant at first will compound into remarkable results if you're willing to stick with them for years.

we often convince ourselves that massive success reguires massive action. Whether it's losing weight, building a business, or
learning a new skill, we put pressure on ourselves to make some earth-shattering improvement that everyone will notice.

However, improvement by just 1 percent each day may not be noticeable in the moment, but over time it can be far more
meaningful. The same way that money compounds with interest, the effects of your habits multiply as you repeat them. The outcomes
you see in your life today are often the result of small choices made over time, rather than dramatic changes.

This is why habits are the compound interest of self-improvement. The longer you stick with them, the greater the returns. But just as
positive habits can compound in your favor, negative habits can compound against you. A slight slip in discipline today may not seem
like a big deal, but if repeated, it can steer you in a completely different direction.

Success, then, is not a single event—it is the result of daily choices, made consistently over time.
What type of pronoun is the word “This” in the sentence, “This is why habits are the compound interest of self-improvement.”?
Demonstrative pronoun

Reflexive pronoun

Abstract pronoun

Subjective pronou
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Q.No: 107 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Freedom of speech is a cornerstone of demaocratic societies, allowing individuals to express ideas, question autherity, and promote
change. However, in the digital world, this right encounters complex challenges. Sccial media platforms have become arenas where
opinicns can be voiced instantly—but also where hate speech, misinformation, and cyberbullying thrive. Balancing the right to speak
freely with the responsibility to prevent harm is now a pressing debate. Should platforms censor harmful content, or would that
violate freedom? While some argue that regulation is essential to protect vulnerable groups, others fear it might lead to suppression
of dissent. The problem deepens when private companies—not elected bodies—decide what speech is allowed or banned. Striking
the right balance reqguires thoughtful policies, digital literacy, and legal frameworks rooted in both human rights and public safety. In
a world where words travel faster than thought, protecting free speech without enabling harm may be one of the defining tests of
modern democracy.

What central conflict is explored in the passage?
Law vs. religion

Profit vs. loss

Privacy vs. piracy

Q.No: 108 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Freedom of speech is a cornerstone of democratic societies, allowing individuals to express ideas, question authority, and promote
change. However, in the digital world, this right encounters complex challenges. Sccial media platforms have become arenas where
opinicns can be voiced instantly—but also where hate speech, misinformation, and cyberbullying thrive. Balancing the right to speak
freely with the responsibility to prevent harm is now a pressing debate. Should platforms censor harmful content, or would that
violate freedom? While some argue that regulation is essential to protect vulnerable groups, others fear it might lead to suppression
of dissent. The problem deepens when private companies—not elected bodies—decide what speech is allowed or banned. Striking
the right balance requires thoughtful policies, digital literacy, and legal frameworks rooted in both human rights and public safety. In
a world where words travel faster than thought, protecting free speech without enabling harm may be one of the defining tests of
modern demaocracy.

Why is regulation of speech on social media controversial?
It is illegal in all democracies

It gives too much power to users

t may suppress dissenting voice

It slows down communication

Q.No: 109 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Freedom of speech is a cornerstone of demaocratic societies, allowing individuals to express ideas, question autherity, and promote
change. However, in the digital world, this right encounters complex challenges. Sccial media platforms have become arenas where
opinicns can be voiced instantly—but also where hate speech, misinformation, and cyberbullying thrive. Balancing the right to speak
freely with the responsibility to prevent harm is now a pressing debate. Should platforms censor harmful content, or would that
violate freedom? While some argue that regulation is essential to protect vulnerable groups, others fear it might lead to suppression
of dissent. The problem deepens when private companies—not elected bodies—decide what speech is allowed or banned. Striking
the right balance reguires thoughtful policies, digital literacy, and legal frameworks rooted in both human rights and public safety. In
a world where words travel faster than thought, protecting free speech without enabling harm may be one of the defining tests of
modern demaocracy.

What is the concern about private companies controlling speech?

They are too small to influence politics
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Your file couldn’t be accessed

It may have been moved, edited, or deleted.
ERR_FILE_NOT_FOUND
They lack legal authority or accountability

They promote academic debates

Q.No: 110 Read the following passage carefully and answer the guestions that follow by selecting the most appropriate option from the given
alternatives.
Freedom of speech is a cornerstone of democratic societies, allowing individuals to express ideas, question authority, and promote
change. However, in the digital world, this right encounters complex challenges. Sccial media platforms have become arenas where
opinions can be voiced instantly—Dbut also where hate speech, misinformation, and cyberbullying thrive. Balancing the right to speak
freely with the responsibility to prevent harm is now a pressing debate. Should platforms censor harmful content, or would that
violate freedom? While some argue that regulation is essential to protect vulnerable groups, others fear it might lead to suppression
of dissent. The problem deepens when private companies—not elected bodies—decide what speech is allowed or banned. Striking
the right balance requires thoughtful policies, digital literacy, and legal frameworks rooted in both human rights and public safety. In
a world where words travel faster than thought, protecting free speech without enabling harm may be one of the defining tests of
modern demaocracy.

According to the author, what is required to resolve this conflict?
Removing all harmful users

Allowing complete freedom

ombining rights with safety through law and literac

Banning social media worldwide

Q.No: 111 Read the following passage carefully and answer the questions that follow by selecting the most appropriate opticn from the given
alternatives.
Freedom of speech is a cornerstone of democratic societies, allowing individuals to express ideas, question authority, and promote
change. However, in the digital world, this right encounters complex challenges. Social media platforms have become arenas where
opinions can be voiced instantly—but also where hate speech, misinformation, and cyberbullying thrive. Balancing the right to speak
freely with the responsibility to prevent harm is now a pressing debate. Should platforms censor harmful content, or would that
violate freedom? While some argue that regulation is essential to protect vulnerable groups, others fear it might lead to suppression
of dissent. The problem deepens when private companies—not elected bodies—decide what speech is allowed or banned. Striking
the right balance requires thoughtful policies, digital literacy, and legal frameworks rooted in both human rights and public safety. In
a world where words travel faster than thought, protecting free speech without enabling harm may be one of the defining tests of
modern democracy.

What tone does the author adopt in the passage?
Dismissive

Alarmist

Balanced and reflective

Aggressive
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Q.No: 112 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
In modern societies, the concept of freedom is often celebrated as an essential right. However, true freedom is not the absence of
rules but the presence of thoughtful (1) Without it, freedom risks turning into chaos, where individual actions undermine
collective welfare. A society that prizes only personal liberty without shared responsibility may soon face moral and civic (2)
While people often equate freedom with doing as they please, meaningful liberty requires a commitment to boundaries that preserve
dignity and (3) for all. This balance is difficult to maintain, especially in democracies where voices are many and interests
often (4) Yet, it is precisely through dialogue, compromise, and mutual respect that freedom finds its most enduring
expression. In the end, freedom divorced from responsibility is not progress, but a subtle (5) of what it truly means to be free.

(1)

governance
restraint

leadership

Q.No: 113 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
In modern societies, the concept of freedom is often celebrated as an essential right. However, true freedom is not the absence of
rules but the presence of thoughtful (1) Without it, freedom risks turning into chaos, where individual actions undermine
collective welfare. A society that prizes only personal liberty without shared responsibility may soon face moral and civic (2)
While people often equate freedom with doing as they please, meaningful liberty requires a commitment to boundaries that preserve
dignity and (3) for all. This balance is difficult to maintain, especially in democracies where voices are many and interests
often (4) Yet, it is precisely through dialogue, compromise, and mutual respect that freedom finds its most enduring
expression. In the end, freedom divorced from responsibility is not progress, but a subtle (5) of what it truly means to be free.

(2)

revival

education

loyalty

Q.No: 114 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
In modern societies, the concept of freedom is often celebrated as an essential right. However, true freedom is not the absence of
rules but the presence of thoughtful (1) Without it, freedom risks turning into chaos, where individual actions undermine
collective welfare. A society that prizes only personal liberty without shared responsibility may soon face moral and civic (2)
While people often equate freedom with doing as they please, meaningful liberty requires a commitment to boundaries that preserve

dignity and (3) for all. This balance is difficult to maintain, especially in democracies where voices are many and interests
often (4) Yet, it is precisely through dialogue, compromise, and mutual respect that freedom finds its most enduring
expression. In the end, freedom divorced from responsibility is not progress, but a subtle (5) of what it truly means to be free.
(3)

justice
convenience
access

e \
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Q.No: 115 | In the following passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
In modern societies, the concept of freedom is often celebrated as an essential right. However, true freedom is not the absence of
rules but the presence of thoughtful (1) Without it, freedom risks turning into chaos, where individual actions undermine
collective welfare. A society that prizes only personal liberty without shared responsibility may soon face moral and civic (2)
While people often equate freedom with doing as they please, meaningful liberty requires a commitment to boundaries that preserve
dignity and (3) for all. This balance is difficult to maintain, especially in democracies where voices are many and interests
often (4) Yet, it is precisely through dialogue, compromise, and mutual respect that freedom finds its most enduring
expression. In the end, freedom divorced from responsibility is not progress, but a subtle (5) of what it truly means to be free.

(4)
vary

divide

clash

Q.No: 116 | In the follewing passage, some words have been omitted. Read the passage carefully and choose the most appropriate option from
the given alternatives to fill in each blank. Mark your answer for each question.
In modern societies, the concept of freedom is often celebrated as an essential right. However, true freedom is not the absence of
rules but the presence of thoughtful (1) Without it, freedom risks turning into chaos, where individual actions undermine
collective welfare. A society that prizes only personal liberty without shared responsibility may soon face moral and civic (2)
While people often equate freedom with doing as they please, meaningful liberty requires a commitment to boundaries that preserve
dignity and (3) for all. This balance is difficult to maintain, especially in democracies where voices are many and interests
often (4) Yet, it is precisely through dialogue, compromise, and mutual respect that freedom finds its most enduring
expression. In the end, freedom divorced from responsibility is not progress, but a subtle (5) of what it truly means to be free.

(5)

rejection

isunderstanding
distortion

creation

Q.No: 117 Select the most appropriate option to fill in the blank.
The audience was mesmerized the speaksr's eloquence.

for
with

™o

Q.No: 118 Select the most appropriate option te improve the bold part of the sentence.
No sooner | reached the platform than the train left.

| had no sooner reached
Mo sooner did | reach

I no sooner reached
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Q.No: 119 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. They are formed by tiny animals called coral polyps.
2. Coral reefs are home to many marine species.
3. This is caused by rising ocean temperatures and pollution.

4. Corals are losing their wonderful colours due to coral bleaching.

1-3-2-4

4-3-2-1
2-3-1-4

Q.No: 120 Choose the one which can be substituted for the given sentence.
A word formed frem the initial letters of a name

Pseudonyn
Homonym
Acronym

Antonym

Q.No: 121 Select the most appropriate option to fill in the blank.
She is capable ____ handling the situation.

I
in
by

™

Q.No: 122 Which among the following sentences uses adjective with correct degree of comparison.
MNew Delhi is more hotter to Chandigarh.
New Delhi is more hotter than Chandigarh.

Mew Delhi is hotter to Chandigarh.

ew Delhi is hotter than Chandigarh

Q.No: 123 Choose the correct option to complete the sentence.

She couldn't help but up during an emotional scene in the movie.

tier

yre

tire
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Q.No: 124  Rearrange the parts of the sentence in the correct order.

Advances in satellite imaging

P. across diverse geographic regions

Q. enabling accurate climate modelling

R. and disaster prediction systems

S. have transformed environmental monitoring,

= URH
PRQS
QPSR

RP3Q

Q.No: 125  Choose the correct sequence to form a meaningful sentence:
(A) served (B) dinner (C) they (D) late

ACBD
BADC

BACD

Q.No: 126  Choose the correct direct speech form of the following sentence.
They requested the officer to permit them to go on leave for three days.

They said to the officer, "Please permit us going on leave by three days."

hey said to the officer, " Please permit us to go on leave for three days.
They said to the officer, "Please permit them to goes on leave for three days."

They said to the officer, "Request to permit us to go on leave for three days."”

QNo: 127 Choose the synonym of the word 'Bawdy'.

Lodrsd

Support
Delay

Establish

Q.No: 128 In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentencefpassage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The spacecraft initiated descent towards the red planet. P: The data gathered during this process will aid future missions. Q: The heat
shield protected it from atmespheric entry. R: Soon after, the parachutes deployed successfully. S: Engineers monitored every second
of the landing sequence. 6. This landing marked a historic step in interplanetary exploration.

RQSP
QSRP

SQRP
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QNo: 129  Choose the correct option to replace the underlined word/phrase in the following sentence:
The car is moving very fastly on the road.

fastliness

quickliness

quicker

Q.No: 130 Fill in the blank with the most appropriate option:
The director's remarks did not ___ well with the board members, leading to immediate backlash.

3] i
goin
go over

go off

QNo: 131 Choose the antonym of ‘mature’:

Developed
Immature
Experienced

Grown

Q.No: 132 Select the most appropriate optien te fill in the blank.
They congratulated him ____ winning the match.

of

for

at

Q.No: 133 Select the correct passive form of the given sentence.
"He is solving a complex problem."

A complex problem is solved.

complex problem is being solved by him

A complex problem has solved.

A complex problem had solved.

Q.No: 134 | Select the synonym of Reticent.
Arrogant

Reserved
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Outspoken

Q.No: 135 Select the most appropriate option to fill in the blank.
You must cope difficulties.

for

Q.No: 136  Fill in the blank with appropriate prepositions.

When you have completed reading the book, keep it the shelf.

‘

on
against

across

Q.No: 137 Choaose the antonym of ‘prudent”:

Thoughtless

Cautious

Sensible

Q.No: 138 Select the correct active form.
"The town was destroyed by the earthquake.”

he earthquake destroyed the town

The earthquake destroys the town.
The earthquake had destroyed the town.

The earthquake was destroying the town.

Q.No: 139  Select the most appropriate option to improve the bold part of the sentence.
The meeting will begin by 3 PM.

an

at

around

Q.No: 140 | Choose the correct indirect speech form of the following sentence.
He said, "Come here."

He told me to go there.
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He told to go there.

He told me to came here.

QNo: 141 Select the synonym of Deft.

Inept

Awkward

Clumsy

Q.No: 142 Select the option that expresses the given sentence in Direct Speech.
They told us that we needn’t bring anything.

They said, "You don’t need to bring anything."

They said, "You didn’t need to bring anything."

hey said, "You needn't bring anything.

They said, "You must not bring anything."

Q.No: 143 Select the correct active form.
"He is known to me."

I knew him.

I had known him.

I know about him.

Q.No: 144 Find the incorrect part of the sentence!
She delivered a speech in the prize distribution function.

She delivered

in the prize distribution function

a speech

Q.No: 145  Choose the correctly spelt word:

Juestionnal

Questionnare
Questionaire

Questionnaire

Q.No: 146  Convert the sentence provided below from its passive voice structure to an active voice structure:
The final draft of the report has been reviewed by the supervisor thoroughly.
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he supervisor has reviewed the final draft of the report thoroughl

The final draft was reviewed by the supervisor thoroughly.
The supervisor was reviewing the final draft thoroughly.

The supervisor had reviewed the final draft thoroughly.

Q.No: 147  Select the most appropriate option to improve the bold part of the sentence.
She is confident to win the match.

in winning

of winning the match

to winning the match

Q.No: 148 | Select the synonym of Relinquish.

lAbandon
Maintain
Continue

Retain

Q.No: 149 Select the most appropriate option te improve the bold part of the sentence.
She prefers to stay at home than go out.

to staying home than going out
staying home rather going out

staying at home to going out

0 stay at home to going ou

Q.No: 150  Select the most appropriate option to improve the bold part of the sentence.
Hardly he had reached the station when the train left.

He had hardly reached

ardly had he reache

Mo sooner he reached

He hardly had reached

Q.No: 151  Choose the correct option to complete the sentence.
The new policy has the use of plastic bags in the store.

bond

bend

band
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Q.No: 152 What does the idiom ‘Turn a deaf ear” mean?

Argue
Listen carefully

Reply angrily

Q.No: 153 Select the option that expresses the given sentence in Direct to Indirect Speech.
Ravi said, "I will be joining the new office soon."”

Ravi said that he joins the new office soon.
Ravi said that he would join the new office soon.

Ravi said that he will be joining the new office soon.

avi 5310 that Ne would DE J0ININg the New oTIce 500N

Q.No: 154  Select the correct passive form of the given sentence.
"They should have been following the instructions carefully."

The instructions should be followed carefully.

The instructions should have been being followed carefully.

ne instructions should have been followed carefull

The instructions should followed carefully.

Q.No: 155  Select the most appropriate option to fill in the blank.
The thief broke ___ the house.

by

at

QNo: 156  What does the idiom ‘Pull someone’s leg’ mean?

Praise them
Annoy them

Criticize them

QNo: 157 What is the meaning of the proverb "Don't count your chickens before they hatch"?

Hatching eggs is an unpredictable process.

on't assume success before it happens

Chickens should be counted immediately after hatching.

Always count your livestock carefully.
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Q.No: 158 Choose the part of the sentence that contains an error;
He succeeded to win the prize.

the prize

No error

He succeeded

Q.No: 159 Select the synonym of Foster.
Neglect

Reject

Cromotde

Oppose

Q.No: 160 Select the correct active form of the given sentence.
"The documents are being submitted by the secretary.”

The secretary submits the documents.

The secretary has submitted the documents.

he secretary 1s submitting the documents

The secretary was submitting the documents.

Q.No: 161 Pick the spelling that is correct for an educational qualification.

Diplumma
Dipluma

Dipploma

QNo: 162  What is the meaning of the word "Superannuation”?
A system of retirement benefits for employees
The act of receiving a bonus

A type of insurance for future health care

he process of becoming too old o wor

Q.No: 163 Select the antonym of "vilify'.

Malign
Slur

Defame
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Q.No: 164 Which of the following words refers to a group of people who have graduated from a particular school, college, or university?

Visitor
Teacher

Alumni

QNo: 165  ldentify the error in the sentence.
He is a fastly growing leader in the organization.

leader

growing

fastly

organization

Q.No: 166 Convert the sentence provided below from its passive voice structure to an active voice structure:
The cake was baked by Mary for her brother's birthday party.

Her brother had the cake baked by Mary.

Mary is baking the cake for her brother's birthday party.

ary baked the cake for her brother's birthday part

The birthday cake was made by Mary for her brother.

Q.No: 167  Select the option that expresses the given sentence in Direct to Indirect Speech.
The captain said, "Stand at ease!"

The captain said to stand at ease.
The captain said that they should stand at ease.

The captain advised them to stand at ease.

he captain ordered them to stand at ease

Q.No: 168 Choose the correct indirect speech form of the following sentence.
Madhubala said to Dillip, "I had a very sumptuous meal yesterday."
Madhubala told Dillip that she had had a very sumptuous meal the day after.

Madhubala told Dillip that she had had a very sumptuous meal the following day.

adhubala told Dillip that she had had a very sumptuous meal the previous da

Madhubala told Dillip that she had a very sumptuous meal the previous day.

Q.No: 169 Select the most appropriate homonym.
He could not bank on unreliable friends.

Depaosit
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Barrow

Dismiss

Q.No: 170 | Choose the correct one-word substitution for the following description.
"a person who talks excessively"

Silent
Introvert

Reticent

Q.No: 171 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

The United Nations was formed after the Second World War. P: It was established to prevent future global conflicts. Q: Over the
decades, it has expanded its roles. R: Now it addresses issues like climate change and human rights. S: Its peacekeeping missions
have played a vital role in conflict zones. 6. Despite criticisms, the UN remains a key international body.

QFRS
PR3Q
RP3Q

POh

Q.No: 172 | In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Agriculture is the backbone of our economy. P: Farmers work hard despite unpredictable weather. Q: They grow crops that feed the
nation. R: Yet, they face several challenges. S: Modern technology can support better yield. 6. Ensuring farmer welfare is national
duty.

PQRS
PRO S
QPRS

QRSP

Q.No: 173 Find the incorrect part of the sentence:
You should not laugh on others.

No error
You should not

others

Q.No: 174 The phrase ‘A white elephant’ refers to:

Lucky charm
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Valuable |ter

Costly burden

Rare animal

Q.No: 175  Select the most appropriate option to fill in the blank.
The train arrived late the station.

Q.No: 176  Select the option that expresses the given sentence in Direct to Indirect Speech.
She said, "1 dare not oppose him."

She said she has not dared to oppose him.

She said she had dared not oppose him.

he said she dared not oppose him

She said she dare not oppose him.

Q.No: 177 Select the correct active form of the given sentence.
"The bills are paid by him every month."

He paid the bills every month.
He pays the bills every month.

He was paying the bills every month.

e IS paying the bills every month

Q.No: 178 Find the word with a spelling mistake.

DNEemera

Preposterous
Alterior

Paraphernalia

Q.No: 179 Identify the part containing a grammatical or structural error:
The manager together with his staff have gone for lunch.

ogether with his sta

No error

The manager

have gone for lunch

Q.No: 180  Choose the correct one-word substitution for:
"A person who studies the origin and development of human societies and cultures.”
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Historian
Archaeologist

Anthropologist

Q.No: 181 | Choose the antonym of ‘authorize’:

Forbid
Allow

Empower

Permit

Q.No: 182 Which of the following terms refers to a person who loves or collects books?

Philatelist
Batanist

Anthropologist

Q.No: 183 Select the most appropriate option to improve the bold part of the sentence.
He worked very hardly to pass the exam.

sincerely

regularly

harder

Q.No: 184  Find the misspelt word.
Preposterous

BTan =

legitimate

kneel

Q.No: 185 Identify the part containing a grammatical or structural error:
One of the questions were very difficult.

very difficult

W e

One of the questions

Mo error

Q.No: 186 Choose the antonym of ‘resilient”:
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Tough

Buoyant
Fragile

Flexible

Q.No: 187  In the following question, the first and the last parts of the sentence/passage are numbered 1 and 6. The rest of the
sentence/passage is split into four parts — P, Q, R, and 5. These four parts are not given in their proper order. Read the
sentence/passage and find the most logical order of the parts between 1 and 6.

Festivals play a big role in cultural unity. P: They bring together people of different beliefs. Q: Each region celebrates with its unique
customs. R: Shared celebrations promote tolerance and jay. S: They also preserve traditional art forms. 6. Hence, festivals strengthen
the social fabric.

PQRS
PROY
RPSQ

QSPR

Q.No: 188 | What does the idiom ‘Cry over spilt milk" mean?

Ignore problems
Be indifferent

Waork harder

Q.No: 189  Choose the correct option to complete the sentence.

She walked gracefully down the during the wedding ceremony.

oil

isle

ail

Q.No: 190 Identify the error in the sentence.
She adopted a honest approach to resolving the issue.

honest
issue

resolving

Q.No: 191  Select the most appropriate option to improve the bold part of the sentence.
| prefer tea than coffee.

instead coffee
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rather coffee

over caffee

Q.No: 192 | Choose the correct direct speech form of the following sentence.
The farmer asked his wife why she was upset when he had just returned from the city.
The farmer said to his wife, "Why are you so upset when 1 just returned from the city?"

The farmer said to his wife, "Why did you upset when | returned from the city?"

he farmer said to his wife, "Why are you upset when | have just returned from the city?'

The farmer said to his wife, "Why are you upset when | was just returned from the city?"

Q.No: 193 Select the most appropriate homonym.
The opposition’s motion was rejected.

Commation
Emaotion

Movement

Q.No: 194  Arrange the sentence parts:
(a) on time (B) the bus (C) arrived (D) at the stop

BACD
CBAD

ABCD

Q.No: 195  Find the incorrect part of the sentence:
This book comprises of five chapters.

Mo error

OMPrises o

This book

five chapters

Q.No: 196 | Choose the sentence with correct collocation for the word 'pattern’
The chef has arranged the cherries by a pattern.
The chef has arranged the cherries of a pattern.

The chef has arranged the cherries with a pattern.

he chef has arranged the cherries in a pattern

Q.No: 197  Select the option that expresses the given sentence in Direct to Indirect Speech,
They said, "wWe enjoy watching cricket.”
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They said that they had enjoyed watching cricket.
They said that they have enjoyed watching cricket.

They said that they enjoy watching cricket.
hey said that they enjoyed watching cricket

QNo: 198 Choose the antonym of ‘affirm’:

Accept

Acknowledge

Support

Q.No: 199 | Arrange the sentence parts:
(A) announced (B) the winner (C) was (D) yesterday evening

CBAD

ACBD

BACD

Q.No:200  Select the correct passive form of the given sentence.
"We are cleaning the room."

The room is cleaned.

The room has been cleaning.

The room was cleaned.

he room Is being cleaned by us
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